Honors Algebra 1
11.2 Practice A
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SIMPLIFY. Clearly show work. Circle final answers.
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SIMPLIFY. Clearly show work. NO radicals in the denominator. Simplify fractions
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SIMPLIFY. Clearly show work. LCOMé w & L] kK& R’A'P'CAL'S '
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SIMPLIFY. Clearly show work. Circle final an
early s w ircle final answer —

39) V33 +5) = 40) 154+ V8)
53 = 4.4 (S +4J%6
\r"‘\" ZJ_ 2 +SA ]bﬁ-«s‘*‘q\}ﬁ;m
m Canne® T T6hs 1200 |
sim e Wy g —

41) x/_(4+ﬂ 42) }/5(\/1_0+3)

JRlCRR\ET; EEEIER
\ A +s | |
A

43) (-@ 44) (@

—((3) 5o+ 2013 -5 12 4424917 —3(2)
“30415he ta N5 -8f6 ) W |
45()\/5“/—) 46) \/§+\/—)/——_X

/;:—"\
, FTV) (Z+() (—7 )
(Tr ) (4 (B+EY[EAE )
5 = 3+\’-S-\—(3'+5
2+fe tle® (5vais |
D
47) (<43 +3+5) £-5«ﬂ 48) (332 - 3v3)(4n/2 - 43) -
412G ¥ 15— ‘\EQ _15(s) ]1(’A —\15—-12(”—&12(3)
S . S T3

0z -~ 140
]/2——/\3// | -3(e

1




